ERmNELe s (fE) REARAF22025HF _FEI0TREE S HTRALRT T HEE

FE % e 4 A AR M) | B A EMA) toEE
1 TOKVIL 3 % 7.7 9.5780 110KV = L% W 3 /24 & %
2 10KV, g % 5.1 6.3220 T10KVA % 7 & w36 /19F £ . 11OKVA & 74 & b3k /2 £ &
3 TOKVA 114 4.4 6.0966 35KV 7% w3k /14 % %
4 10KV A 7 4 7.253 8.7469 T1OKVA VLA B 3k /14 £ 2 . 110KVA ML 2 3k /24 £ &
5 10KVA # 4.4465 5.4560 T1OKVE A % w3k /14 £ &
6 10KV # 2 4.4514 5.4560 110KV #. 7% 36 /14 % 4
7 10kVA E 5.1 6.0966 35KV 774 #,36 /14 £ %
8 10KV i# = 4 5.1896 6.3220 T1OKVA % ¥ % 3k /19FE & . 110KVA % ¥ % 3k /2fF £ %
9 LOKVA, i — % 5.0501 6.3045 T1OKVA % v % sk /24 7 . 110KV A % v 7 v sk /14
10 10KV A A 2 7.9135 9.1450 TTOKVA ML A sk /14 4 . 11OKVA WL 36 /24 £ %
11 10KV A # % 7.8269 9.1450 110KV A A B3k /24 78 . 110KV A UL v 3 /143 7%
12 10KV i 8.0780 9.1450 110KV A WL v 3 /24F .74 110KV A AL & 3 /14 &
13 1OKVA Il £ 8.2339 9.1450 110KV A A% i3k /14 £ . 110KV A UL v, 3 /29 £
14 10KV % % 7.4653 9.1450 TTOKVA AL A sk /14 2 4 . 11OKVA WL 36 /24 £ %
15 10KV A 3 % 7.9113 9.1450 TTOKVA WA s sk /14 4 . 110KV AL w36 /24 %
16 10KVA = % 7.7858 9.1450 110KV A 9L v 3 /24F .4 110KV A A2 w3 /14 % %
17 10KV B — % 5.2120 5.8022 TTOKVA ML 4 b sk /24 78 . 1 1OKVA WL #3614 £ %
18 10KV A 8 & 7.5563 9.1450 TTOKV A WL A% b sk /24 7 . 110KV AL 36 /14 %
19 10KV A 8.3963 9.1450 110KV A B3k /24 78 . 110KV A UL v 3 /143
20 10KVE & 5.0782 6.0447 35KVE AT 2 H 3/ 14k &
21 1OKVEAT 5.1973 6.0447 35KV AT I 3k /1 E &
22 10KV 1 & 5.4 6.0447 35KV AT A 3k /1 & &
23 1OKVE ¥ 7.7927 9.6299 35KVE AT A #35 /14F £
24 1OKVEE — % 7.7039 9.6299 35KVE AT 2 H, 3k / 14k £ &
25 10KVE R — % 7.7039 9.6299 35KV AT A 3k /1 E &
26 10KVt % 2 2.4 3.0310 35KV A 3k /14 &
27 10KV & 4 4.7 4.6761 35KV 2 A 3k /14
28 10KVt ] 2 3.0 3.8101 35KV 2 A 3k /14
29 10kVE % % 3.6337 4.3473 35KV Ey i 2% 3k /1 4k £
30 10KV B 2 3.6229 4.3473 35KV Zy i 7 1,3 /1 4k % 7%
31 10KV A2 4.9830 6.0447 35KV 4 2 3k /14 % A
32 10kVE T % 4.1646 5.2653 110kVE T sk /2fk 4 . 110KVE A& w3/ % &
33 LOKVAR # = % 5.6831 7.3610 TTOKVA % v % sk /14 = 8 . 110KVA & ¥ 7 b s /24 3
34 TOKV4R # — % 5.9408 7.3610 TTOKVA % v % sk /2 7 . 110KV A % ¥ % sl /1
35 10kV4 I 8.3140 9.5780 110KVA L& W3k /1 E &
36 10kVA 22 = % 7.8983 9.5780 110KV 4 7672 W36 /24 £ &
37 L0KVA £ — % 7.8789 9.5780 110KV AL % i3k /24 £ %
38 10KV 4 K 2 8.0304 9.5780 110KV 4 7672 W36 /24 £ &
39 10kV4 % % 7.6624 9.5780 T1OKVH 2 & sk /1 £ 4 . 110KVE 32 & 3 /24 £ %
40 10KV 4% 2 8.8401 9.5780 110KV 4 7672 W36 /24 £ &
41 10kV4 # % 8.0109 9.5780 110KV AL o3k /1 £ &
42 10KV 44k & 7.9027 9.5780 110KV A6 % W3 /1fF £ &
43 10kVA 1= % 5.1198 6.0966 T10KVA 6% w3k /1# £ %
44 10KV4 7 2 7.9460 9.5780 110KV 4 7672 W36 /24 £ &
45 10KVE 4 8.0429 9.6299 35KV b A8 3k /o9 2 A | 35KV A v 3k /1 9k R
46 10KV i 2 5.0151 6.0447 35KV Wy 7 3 /24 3 7 | 35KV U4 v 3 /14 E R




47 10KVA R 4 5.0907 6.0447 35KV A 3k /24 £ | 35KV WA R 3k /1 E R
48 1OKVTE % 7.0127 8.7469 T1OKVTG i1 % & w3 /1fF £ %

49 10KV 75 4, 5.9732 7.3610 T10KVEE R R Wk /I E R

50 10KV 2 % 5.9364 7.3610 1 1OKV kA8 28 75 o, 3 /19 £ %

51 10KV K 4 5.9148 7.3610 T1OKVEE A7 28 % 3k /1 FE &

52 10KV K % 5.0791 6.3218 11OKVERHH 26 7 3k /1 F %

53 1OKVE 4 8.7639 10.9116 T1OKVE 1 % i3k /24 £ %

54 TOKVE 4 2 7.7364 9.6299 110KV FE A 3 /14 2 28 . 1 1OKVER P % v 3 /24 3
55 10KV 78 % 8.4855 9.6299 110KV JH 4 b s /14 48 . 11OKVER P A #3624k %%
56 1OKVE #7 4 4.8 6.0447 TTOKVER R A% by s /24 7 . 1 1OKVER P A8 i3 /1H 3 %
57 10KVE T 4 8.1391 9.6299 11OKVEE P i3k /1 £ . 11OKVE P v 3 /2gF £
58 10KVE T % 7.9074 9.6299 TTOKVER R A% oy s /24 7 . 1 1OKVER P A8 3 /1 4k %
59 10KV 1L % 7.3605 9.6299 110KV 4 b s /14 48 . 11OKVER P AL #3 /24F £ %%
60 TOKVE 1 2 8.6392 9.6299 TTOKVE FH 2 b3 /4P 28 . 11OKVER P & w3 /24k £ %
61 1O0KVE % 4 8.5851 9.6299 110KV [H A b s /oA 7 . L 1OKVER P2 #3614 %%
62 10KV f & 2.3936 3.0310 35KV F I A 3k /3 E &

63 10kVE £ % 2.9588 3.8101 35KV R 3k 2k A | 35KV KK Bk /L E R
64 10KV 7k — % 2.0976 3.0310 35KV F I A 3 /3 & &

65 10kVE ¥ 4 1.8459 2.4250 35KV KB K Lk /UFE R . 35KV FHE Wk 2 £ R
66 10KVE & 2 3.8169 4.6764 T10KVE | K& w3 /1fFE &

67 10KVE %2 7.9070 9.5780 TI0KVE | K% i3k /2 £ %

68 TOKVE 2 2 8.3292 9.5780 T1OKVE | 5 2 i3 /24 £ &

69 10KV 3 4 8.3136 10.3920 TI0KVE b K& 3 /24 £ &

70 TOKVE T = % 7.8979 8.6600 TI0KVE b K& i3k /24 £ %

71 TOKVE T — % 7.5292 8.6600 TI0KVE R &b /1#E R

72 10KVE | = % 5.7659 6.5470 TI0KVE b K% 3 /24 £ %

73 10KVE R —% 6.4435 8.7469 T10KVE b K& s sk /1 E &

74 TOKVE 7 2 7.1 8.6600 TIOKVE | 5 % i3 /24 £

75 10KV fe 4 8.0897 9.5780 T10KVE D& sk /1= %

76 10KVE & & 4.3843 5.4560 T10KVE | K& v sl /1fFE &

77 10kVE £ 4 4.2185 5.2653 T10KVE K& sk /1 E R

78 10KV # 2 3.9879 5.1960 35KVH I 7% 3 /24 3 78 | 35KV T % B3k /14 E R
79 10KV 3 H 2 5.4810 6.9600 T10KVE A& i 3k /1 £ &

80 10KV A 2 7.1123 8.7469 T1OKVE R 3 /14

81 10KV & — & 7.8572 9.5780 110KV w3k /1#E %

82 10KV 32 7.7425 9.5780 110KV 32 % i 3 /24 £ %

83 10KV & % 6.3954 8.0538 110KV Z R w3k /I#E%L

84 10KV % 2 2.7777 3.4640 110KV 32 % 36 /24 £ %

85 10KV # % 8.0282 9.5780 110KV & & w3k /1#E %

86 10KV b 2 8.2859 9.5780 110KV # & w3k /1# £ %

87 10KV 1= % 6.9691 8.0538 T1OKVE £ 7% W35 /24 £ %

83 10kV2r 22 2 4.9483 6.0447 110KV4L B 4 sk /oA £ 7 . 110KVAL B 8 s /1 4k & 7%
89 10kVAT # 4 6.0382 7.3610 35KVAL 35 4 2 3l /L AFE R . 3BKVAL 2 4 7% w3k /24 £ &
90 10KVAT % = % 7.7169 9.6299 T10KVEL B A i3k /o7 . 110KVer B & s /154
91 LOKVAL # — % 8.4855 9.6299 110KV4r B AR sk /1fF £ 4 . 110KVAT B & w3 /oAb £ %
9% 10KV #2 2 5.2189 6.0447 110KV4L B 4 sk /oA £ 78 . 110KVAL B 8 s /1fF & 7%
93 LOKVZL 3 = % 6.3495 7.5688 35KVAL 35 4 28 3 /L AFE 7 . 3BKVAL 2 4 7% w3k /24 £ R
9 10KVAT 3 — % 6.0551 7.5688 35KVAT 4R 78 3 /1 | 35KVAL 4R % v 3 /24 £




95 1OKVAT B 4.9627 6.0447 110KV4r B AR sk /1fF £ 4 . 110KVAT B & w3 /2fh £ %
96 TOKVAT = % 4.4297 5.4560 35KVAT 4R 28 3 /1F S | 35KVAL 4% % v 3 /24 £
97 10KVLT A — % 7.0430 8.7469 35KVAL 35 4 28 3 /L AFE 7 . 3BKVAL 2 4 7 w3k /24 £ &
98 10kV4T £ 2 8.0785 9.6299 110KV4r B A sk /oAb 7 . 110KVAL B & w3 /14 %
99 10KV4r 48 4 6.0 7.0146 35KVAT B4R A #3b / L4 | 35KVAL 47 % v 3k /2H £ 8
100 10KV FF 5.2341 6.3045 35KVAT 4R 28 3 /1F S | 35KVAL 4R % v 3 /24 £
101 10KVAT B 8.3311 9.6299 110KV4r B AR sk /2 7% . 110KV4T B R 3k /14 £ %
102 10KVZT /b 2 5.4268 6.3045 35KV AL 2 3 /24 AR | 3BKV/NAT AL e s /1 E R
103 1OKV4L & # 7.1816 8.7469 TTOKVA M 4 b s /14 48 . 11OKVA W A #3 /24F £ %%
104 1OkVAT I = % 8.0157 9.6299 110KV4L B A sk /oAb 7 . 110KVAL B w3 /14 %
105 LOKV4L E — % 8.7085 9.6299 110KV4r B AR sk /1fF £ 4 . 110KVAT B 3k /2t £ %
106 10KV & 5.1572 6.3220 TTOKVAZ 3P 45 b sk /oA 2 7 . 1 1OKVAR 3P 28 i3 /1 %%
107 10KV K 7.3783 8.7466 110KV 57 B3k /1 2 . 1 1OKVAR 577 v 3 /24 5 7%
108 10KV 7 2% 7.3632 8.7466 TIOKVAR 3P 2 o sk /1P 2 . 110KV P & s /2fh £ %%
109 10kVE 41 % 3.0430 3.8101 35KV E A 3k 2k £ A | 35KV E A K Bk /LR
110 10KV £ 4 2 2.5439 3.0310 35KV AR 3k /24 7 | 35KV E A K w3k /L E R
111 10KV & 7~ % 5.0 5.4560 35KV E E il k1 #E R

112 10KV E 7 = % 2.9 7.3610 35KV & A 3 /1 E

113 10KV & 3 % 3.7 6.3220 35KV F K /1 E R

114 10kVE T2 2.3793 3.0310 T10KVH T d 3k /1#E 4 . 110KVE T w3k /24 % &
115 1OKVAAR % 3.0 4.8496 35KV M A 36 /14F £ %

116 TOKVE & % 3.6808 4.6761 35KVA B A 3 /14F L 35KV A HE R W s /24 R
117 10KV H 3% % 4.2122 5.2653 35KVA B i3k /14FE R | 35KVA R W3k /24
118 10KV E % % 2.3036 3.0311 35KV A T A sk /14 A L 35KV A B 3k /24
119 10KV # % 5.9 6.1486 35KV A 2% W 3k /24k £ %

120 10KVE & % 4.0932 4.6761 35KVA B 3k /14 L 35KV A H R W s /24 R
121 10KV 32 4 3.8256 4.6764 35KV £ 2 W3k /1 E &

122 TOKVIE 2 2.0179 2.4250 35KV £ 2 3k /1 & &

123 10KV W 2 3.9576 4.6764 35KV E A #3514 E

124 1OKV3Z 3 2 3.4 4.3300 35KV T 2% 3 /14 & A

125 10KV % 4 8.4 9.6299 35KV A 2 o /1 E A . 35KV AR K sk 2 E K
126 10KV it 41 5.1756 6.0447 35KV 3e 385 7 2 3l /1A L L 35KV i A L3 24 £ R
127 10KV 3% & 5.1627 6.0447 35KV o 2 ok /2P E A | 35KV M A R Lok /1 E &
128 TOKV 3 %7 2 7.8771 9.6299 35KV ie 385 7 2 3 /24 £ AR L 3OKV A L 3k /1 E R
129 10KV B % 4.9412 6.0447 35KV A 2 o 2 E A | 35KV M AR R Lk /1 E K
130 10KV % 2 5.2653 6.5816 110KV 3 % o 3 /14 £ %

131 10KV 28 2 7.4086 8.9198 11OV 5P 2% 3 /24 £ %

132 10KV /b 2 6.2525 7.7074 110KV 5P 2% 35 /24 £ %

133 1OV H1 %, 6.8 10.3920 T1OKVI> 3P 4 s /14 £ 4 . 11OKVIb 472 #36 /24F £ %%
134 TOKVSL 42 = % 7.8 9.5780 110KV = 3T % 36 /24 £ %

135 TOKVIL 4 — % 7.7 9.5780 T10KVE L& W3k /1 E &

136 10KkVIL & % 8.9 9.5780 110KV = 3T % 1,36 /24 £ %

137 TOKVIL 2 % 8.7 9.5780 T10KVE L% 3 /1 £ &

138 10KVIL | = % 8.0 9.5780 110KV = 3T % 36 /24 £ %

139 TOKVIL | — % 8.1 9.5780 T10KVE L& d 3 /1 E &

140 TOKVIT R = % 5.1 6.0966 110KV = 3T % 3 /24 £ %

141 TOKVIL R — % 5.2 6.0966 T10KVE L& i 3 /1 £ &

142 10KV 5 2, 8.2317 9.1450 TTOKVIR B A% by s /14 2 4 . 110KV B8 3 /24 & 7%




143 10KV & % 7.7057 9.1450 110KV IR a4 i v /24F £ 7% . 11OKVIURE 2% v 3 /14 £ 2%
144 1OKVIX A8 2 7.3160 9.1450 11OV IR AR B3k /192 4 . 1 TOKV X A8 A8 v 3 /24 3 %
145 1OKVIR 7 4 8.4053 9.1450 110KV IR a4 A 3 /14F £ 28 . 110KV A 2% v 3 /24 £ 7%
146 TOKVIR 7 2 7.8096 9.1450 1 1OKV X A i3 /24F 7 . 110KV IR A &L v s /1 4F 5
147 TOKVIX T 7.9568 9.1450 11OV A 3k /14 2 A . 1 1OKVIR B8 7 v 3 /24 % 7%
148 10KV A % 7.3160 9.1450 11OV IR AR B3k /24 7 . 110KV IR A A8 v s /1 4k 3 8
149 TOKVIR Ak — & 7.3 9.1450 11KV B A% o, 35 /1 4F 2 %

150 TOKVIR 3% 7.3809 9.1450 1 1OKV A B3 /14 A8 . 1 1OKVIR B L v, 3 /24 5 %
151 1KV F 2k, 8.1776 9.1450 11OV A B3k /142 A . 1 1OKVIR #4875 v 3 /24 % 7%
152 TOKVIR AL = % 7.3961 9.1450 TTOKV IR AR B3k /192 4 . 1 TOKV X A8 A8 v 3 /24 3 %
153 TOKVIR 77 8.3183 9.1450 11OV AR d 3k /14 2 & . 1 1OKVIR # 7 v, 3 /29k % 7
154 TOKVIR R 2 8.3292 9.1450 11OKV A B3k /14 48 . 1 1OKVIR AL v, 3 /24 3
155 1OKVA T = % 8.0893 9.6299 TTOKVA S A dsb/1fF 4 . 11OKVA % 3k /2 £ %
156 TOKVA T — % 7.8447 9.6299 TTOKVA S 2 b3 /14F 28 . 110KV % w3 /24k £ %%
157 10KV 7k # % 3.7 5.4560 35KV E R H I/ 1EER

158 TOKVA % I 4 9.8074 11.5178 110KV 2% 2 B3k /1 28 . 11OKVA % 7 v 3 /24 .
159 10KV % = % 9.2142 11.5178 T1OKVAK 24 B3k /24 8 . 110KVA S & v s /1F 3
160 10kVA 3 = % 8.3 11.5178 T1OKVA 247 v s /14F 78 . 110KV S 2 3 /28 & %%
161 TOKVAH — % 9.2142 11.5178 11OV 24 i3k /24 £ 8 . 110KVA S & v sk /19k 3
162 10KVA & & 4.3301 5.4560 35KVA & 7 .3k /14

163 10KV A A 8.1716 9.6299 T1OKVK 24 B3k /24 8 . 110KVA S & v s /1 k5
164 TOKVA BT 8.0954 9.5780 T1OKVA 278 v 3 /24F 3 7 . 110KV A 24 2 3 /14 %%
165 T0KVA R = % 8.0 9.1450 TTOKVA % % i3k /24 £ %

166 10KV & — % 7.7278 9.6299 TTOKVA S A sk /14 2 4 . 11OKVA %% 3 /24 £ 7%
167 1OKVAAZ % 4.6246 5.4560 35KVA= XA # 3k /14FE A

168 10KV 5 91 2 2.6002 3.0310 35KV 2 3k /14 A

169 10KV % % 6.1269 7.3610 35KV 2 W3k 14k E &

170 1OKVAZ i 5.7914 7.3610 35KVAR A T 2% 3 /14 2 A

171 1OKVAR £ 4 2.7712 3.4640 35KVAR 57 2% 3 /24 £ %

172 TOKVAZ 44 & 4.8773 6.0966 35KVAR 57 2% 3 /24 £ A%

173 1OKVAR B 4 5.9689 7.3610 35KVAR A 3P 2% 3 /14FE &

174 LOKVHF 3 % 7.7078 9.1450 110KV AR s /24 = 2% . 1 TOKVAR AR 22 e 3 /1 4k £ %
175 1OKVAR % 8.2079 9.1450 TTOKVAR AR A sk /14 4 . 1 LOKVALAR & w36 /2 £ %
176 LOKVAf & — % 7.3 9.1450 TTOKVAR A % o, 3 /1 4F £ %

177 1OKVAR 3% — 4 7.8356 9.1450 T1OKVAR AR % 3 /L4F £ 28 . 1 TOKVALAR 2% v 3 /24 £ %%
178 1OKVAR Ak = 2 7.3701 9.1450 T1OKVAR AR s /14 45 . 11 OKVAR A 2% e 3 /24F £ 7%
179 TOKVAR % — & 7.7858 9.1450 T1OKVAR AR % Mok /24F £ 7% . T1OKVARAR %% w3 /14 £ 2%
180 10KV 5 & 7.6775 9.1450 110KV AR 4 sk /14 2 78 . 1 LOKVAR AR 4% v 3 /2fF & 7%
181 TOKVAf f = % 7.9914 9.1450 1 LOKVAR AR A i3k /14 2 & . 1 LOKVAR AR 7% v 3 /24 % ¢
182 TOKVAR fh.— % 7.5281 9.1450 TTOKVAR AR A # 3k /19 2 4 . 1 TOKVAR AR 78 v 3 /24 3 2
183 10kVAR 7% % 2.5 7.3610 35KVAR F AR 3k /2 A . 35KVAR F AR Lok /1 E &
184 1OKVAR A % 3.9 6.3045 35KVAR F 4R A% W, 3 /29F £ 7% . 35KVAR F AR K W3k /19FE &
185 1OKVAR # — % 3.5 5.4560 35KVAR F 4R 2 A 3k /2dk £ % | 3BKVAR F AR sk /1HE R
186 1OkVAR ot £ 4.3 6.3045 35KVAR F AR w3k /1 4F AR L 35KVAR F AR AL 3 /24 £
187 10KV % 0.3889 3.8101 T1OKVE F3 % w35 /2 £ %

188 | 10kV4kZ i EF & 3.8 4.7630 110kVE T 3k /1 £ %

189 10KV A 4 4.2607 5.1960 35KV 5 2% 3k /24 £

190 10KV #7 % 3.7866 4.6764 35KV F 3T 2 3 /28 E A




191 10kVE 324 3.1784 3.9836 35KV 57 2 w3k /24 £ R

192 TOKVA F 4 6.9066 8.7469 35KV A A 3 /1

193 1KV 57 2 4.1069 5.0574 35KVIF 2 7 W3k /14F £ &

194 10KV % 2 4.1022 5.0574 35KV £ 7 3 /14 % &

195 TOKVIE /1 2 3.9637 5.0574 35KVHE 2 7% 3k /14 £ %

1% 10KV K 3.9175 5.0574 35KV £ 7 3k /14 % &

197 1OKVEHT I = % 3.9 5.4560 35KV 3P i3 /1 E R

198 TOKVE 1T — % 4.3301 5.4560 35KV I 2% 3 /14 £ A

199 1OKVET £ 4 5.9148 7.3610 35KV 2 W3k /2 £ &

200 10KV X % 5.9754 7.3610 35KV 2 3k /14

201 1OKVET A 5.9927 7.3610 35KVEHT 2 B3k /1# £ &

202 10KV £ 2 6.7353 8.0538 35KVEHT A& 3k /24 E A

203 10KV 21 — 4% 1.3 3.8104 35KV 4 2 3k /14 %

204 TOKVEE 45 — % 2.4 5.4560 35KVEE #7583 /14 % 7%

205 10KkVEE 72 4 2.8 5.4560 35KV 2 W3k /14F £ &

206 10KV 2 2.6 5.4558 35KVEE A 7 36 /14 3 7%

207 10KV 1 4 4.3648 5.4560 11OV AL 3t 7% vb 3 /1 £ %

208 1OKV# T & 2.4248 3.0310 1 1OKVH AL 3t 72 v, 3 /14 3 2

209 10kVEF % 5.6377 6.5816 35KVE 2 % 3k /1 E &

210 TOKVE K 2 5.5424 6.5816 35KVE 2 % .3k /14 7

211 LOKVEE = % 7.7 9.5780 110KV A 767 3k /2 £ %

212 1OKVH: £ & 5.5597 7.3610 110KV A % i 7% v, 3k /24 £ 78 . 110KV A % g 78 v s /14 & 7%
213 1OKVEE £ 4 3.0334 3.8101 35KVEHT B 3k /24 £ &

214 TOKVJE % 2 4.3648 5.4560 35KVEHT B A& 3k /24 E A

215 10kVF 4.6149 5.2653 L1OKVF 2 3% w3 /1 £ . 1 LOKVF 32 34 v 3k /2ff & %
216 TOKVF 4 4.2612 5.0574 TTOKVF 4 sk /147 . 110KV T 32 A48 b s /24 3 7%
217 10kVF 4L 4 4.55% 5.4560 TIOKVFZ AR d 3 /1= 4 . T1O0KVFZ AL b3k /2 £ &
218 TOKVF # & 3.2 3.8101 TTOKVF A4 sk /147 . 110KV T 2 448 b s /24 3 ¢
219 TOKVF 3 5.5461 6.0966 L1OKVF 32 3% w3 /oA £ . 1 1OKVF £ 4 v 3 /14F £ %%
220 1OKVF 7 2 4.1512 5.2653 TTOKVF 4 sk /147 . 110KV T 32 A48 b s /24 3 %
221 10kVF % % 4.1133 4.6764 TLTOKVF 32 90 3 /14 £ . 110KVF 3£ 407 v 3 29k £ &
222 TOKVF 2 3.2515 3.8101 TTOKVF A% sk /24 7 . 110KV SR 3% sl /14
223 10kVF # % 4.6745 5.4560 L1OKVF 2 3% w3 /L £ . 1 LOKVF 32 34 v 3k /2ff & %
224 TOKVF 2 2 5.0021 6.0966 TTOKVF % sk /24 7 | 110KV TSR A% vl sl /143
225 TOKV TN 4.2066 4.6764 110KV T A dsk /27 . 110KV G L& 36 /14 £ %
226 10KV T # 2 1.5382 2.4250 T10KVA T A sk /27 . 110KV A T 36 /14 %
227 10KV 77 2.3800 3.0310 110KV T A& dsk /1 £ 4 . 110KVE T w3 /24 £ %
208 10KV T % % 4.0477 4.8496 110kVE T sk /2fk 4 . 110KVE T A& s /14 % %
229 10KV 77 % 3.0805 3.8101 110KV A dsk /27 . 110KV G L& 36 /14 £ %
230 10KV & =% 4.4 5.4560 35KVA B & 3k /1# £ &

231 10KVE K —% 4.4 5.4560 35KVA B & 3/ E

232 10KV = 4.0529 5.1960 35KVE & sk /1 £ A 3BKVE AR k24 E R
233 1OKV/N A 5.1042 6.3045 35KV/NEP L A B3 /LR L 35KV T AL e 3 2
234 TOKV/N i 2 5.0674 6.3045 35KV/NEP AL 8 3 34k L 35K/ AL A e 3 /20 R
235 1OKV/MA 2 4.0 6.9280 35KVAR F Ak #3 /24F £ 7 | 35KVAR F AR Lk /1R
236 TOKV/NF 2 5.4311 6.3045 35KV AL 2 s /1 AEE AR . 35KV/NIT AL R 3 24 E R
237 TOKV/NR 5.7308 6.9280 35KV/NEP L A B3 /LR L 35KV T AL e 3 2
238 10KV N 5.8 7.2744 1 1OKV-H % 4 7% v, 3 /A 4%




239 10KV 1L % 5.8 7.2744 110KV 2 3% v 3 /44 £ %%

240 10KV % % 1.9 2.4250 35KV A 2 3k /24F £ &

241 10kVE 3T 4 2.4 3.0310 35KV A B 2 W3k /1 E &

242 10KV % 2 7.4281 8.7466 35KV E 2% A 3k /1 & &

243 10KV E R # 5.1419 6.3218 35KVE ¥ 3 /14 E

244 1OV #7 % 4.3 5.1960 35KV U A 3 /1

245 10KV )1 4.4 5.1960 35KV U A 3k /1 E R

246 10KV & 2 7.1272 8.7466 35KVE 2% A 3 /1 # & &

247 10KV ¥ 3.4931 4.6764 35KVE AR B3k /LA | 35KV E KK w3k /oA £ K
248 1OV 31 % 3.0 3.8101 35KVE AR 3k /24 7 . 35KVE AR sk /LA E R
249 TOKVE 7 # 3.1563 3.8101 35KVE AR # 3k /L4 | 35KVE R K sk /oA £ R
250 10KVE K % 2.4270 3.0310 35KV E 7 sk /ofp R | 35KVE AR sk /1 E AR
251 TOKVE & %, 3.2256 3.8101 35KVE AR 32k £ A | 35KVE R K Bk /1 E R
252 10kVE = % 3.7801 4.7630 35KVE A w3k /1R | 35KVE AR sk /oA E R
253 10KV # % 7.0062 8.7469 35KV A% 3k /1 E &

254 10KV AL & 4.3648 5.4560 35KV % A A 3 /1 & &

255 10KV #7 4 4.6267 5.4560 35KVE 4 3 /14 E

256 10KV A+ 2 2.8 6.9280 T10KVE FIP & s /1#E %

257 1OKVL 3 % 4.7197 5.8022 35KVALHP A 3k /1 | 35KVIL T v sk /oA £
258 10KV 3 2 4.7457 5.8022 35KVFL T A sk /14 A L 3BKVAL PR sk /2 E R
259 10KVL 2 % 7.0842 8.7469 35KVFLEF A 3k /14 A L 3BKVAL P b3k 24k R
260 10KVAL 2 2 6.3738 7.9672 35KVFL I A 3k /14 A | 3BKVAL PR sk 24k R
261 10KV 7 2 3.3436 4.1999 110KV R sk /2 £ . 110KV Kl & ok /1 £ %
262 IE=34 4.6481 5.4560 110KVE R E B3k /2fF % . 110KVE KA sk /1#£ %
263 10KV e 2 5.6961 6.5816 110KV H %% & 36 /24F & %

264 10KV #7 2 8.6708 10.3920 110KV4A A % w3k /1 £ %

265 10KVHE A % 8.6470 10.3920 T1OKVH [ % o 3 /1 {2 &

266 10kV#4 % & 6.1183 6.5816 110KV H 2% 1, 3 /24F £ %

267 10KV = 6.2438 6.5816 110KV H 2% & 36 /24F & %

268 10KV 3 Fn & 7.0 8.7466 35KV sk 3% 7 3k /14 7%

269 10kVA % 8.3 10.3920 T10KVA i 32 % e 3k /1 FE &

270 10KV A& 7 2 4.4427 5.4560 35KV A 2 s 2 3k /14FE A

271 1OKVA 5% % 5.0687 5.7676 110KV A M4 b s /24 7 . 11OKVA HI AL 36 /1 %
272 10KV A % 2 5.9 6.5816 110KV 5P 2% 3 /24 £ %

273 1OKVA 2 7.9285 8.7469 110KV A M A b s /14 48 . 11OKVA A o3 /24 £ %%
274 | 10KVA H & okt & 8.3 10.3400 35KV A A sk /14 A L 3BKVASE R 3k 24 E
275 10KV A 37T 4 5.9559 7.3610 T1OKVA N & # 3k /14 £ &

276 10KV A T 2 6.4993 8.0538 L1OKVA I 7 v 3 / 14k &

277 10KV A A % 5.5952 6.5989 110KV A WA b s /24 7 . 11OKVA HI A8 36 /1F £ %%
278 | 10KVA#% (F1L) 6.7007 8.0538 T1O0KVA I & w3 /14 %

279 10KV A # % 7.6987 8.3136 110KV A M4 b s /14 48 . 11OKVA W A #3 /24F £ %%
280 | 10KVAH & (%%) 6.0815 7.3610 110KV A H A sk /24 £ 7 . 110KV A M8 v s /1 fF & 7%
281 10KV A # 4 5.3605 6.5816 35KV 4 3k /24F £

282 TOKV A B 2 4.9228 6.0966 T1O0KVA I & w3 /14 £ %

283 1OKVA I 3.1606 3.8101 110KV A M4 b s /14 48 . 11OKVA W A #3 /24F £ %%
284 10KV A & & 4.4 5.4560 35KVA B & 3k /1# E &

285 10KV A B 4.4211 5.4560 35KV A 5 A A3k /1HFE &

286 10KV A R 2 4.5 6.3220 35KV A 2 s 2% 3k /14FE A




287 10KV A= % 3.5 5.4560 35KVA B R w3k /1 E R

288 10KV % 3% % 7.4047 9.1450 35KV S E R E /I ER . 35KV S &R a2 £k
289 10KV T4 3.8797 4.6764 35KV % B A ko= R L 35KV A E R sk /1 E R
290 10KV b =% 7.4502 9.1450 35KV % B A sk /o 35KV A E L sk /1 E R
291 10kV% E—% 7.7013 9.1450 35KV & & B3k /LK 35KV S E R W k2 £ K
292 10KVEE & % 3.5168 4.7803 35KV A T 2 3 /14 A

293 10KVIER 8.6214 9.1450 T1OKVAJE A i3k /24 £ 8 . 110KV ASE R sk /19 &
294 1OKVIE T 2 8.3898 9.1450 T1OKVAHE A sk /14 2 4 . 110KV AE & 36 /24 £ 7%
295 TOKVIE 34 8.0239 9.1450 T1OKVA R B3k /24 £ 8 . 110KV AR sk /15 &
296 TOKVIE 3T 7.8334 9.1450 T1OKVAJE A B3k /24 £ . 110KV ASER sk /1 &
297 1OV A 2 8.1902 8.9198 110KV & o 3 /1 &

298 10KV # & 7.9399 9.6299 TRV v 4% b sk /14 2 4 . 11OKVAR T % . 36 /24F £ %
299 10KV 7 2 8.3080 9.6299 TTOKVH v 4 sk /14 4 . L 1OKVAR T % 36 /24 %%
300 1KV 2% & 8.6977 10.0629 TTOKVI T8 %% b s /1 4P 28 . 11OKVAR T & #L 3 /2k £ %
301 1OV 2 8.4 9.6299 11OKVHR T % i3k /14 2 & . 1 1OKV3R 70 7 v 3 /29 %
302 10KV 4% & 7.8425 9.6299 TRV v 4% b s /14 2 4 . 11OKVAR T % 36 /24 £ 7%
303 1OV R 7.3783 8.7466 TTOKVH B A sk /1fF  4  LLOKVAR % 36 /2 %%
304 TOKVH 4 2 5.3324 6.3218 110KV 7 748 b sl /14 278 . 1 1OKV 7 4% v 3 /2fF & 7%
305 1OV A 6.1746 7.3610 1 1OKVR o % i3k /14 2 . 1 1OKVR o 78 v 3 /29 %
306 1OKVH R 2 8.1404 8.9198 11OV 22 3 /24 £ &

307 TOKV3# # % 8.4725 9.6299 TTOKVH v 4 sk /14 4 . 1 LOKVAR W % 36 /24 %%
308 1KV A & 1.8934 9.6299 110KVHE ¥ 4% b3k /14 278 . 1 1OKVA V8 4% v 3 /2fF & 7%
309 10KV 5 6.9976 8.7469 11OKVHR o % i3k /24 £ 78 . 110KV & v s /19F 3
310 TOKVH X 2 8.0494 8.9198 110KV i 72 v 3 /14 3

311 1OV & 2 5.4168 6.5816 35KV B 22 7% W3k 2k £

312 10KVI B % 7.7104 9.6299 110KVHE ¥ 748 w3k /14 78 . 1 1OKVA V8 4% o 3 /2fF & 7%
313 1OV 7 2 7.3783 8.9198 110KV % 3 /24 £ &

314 10KV 4 & 7.2203 8.7466 TRV B A b sk /24 7 . 110KV T % 3 /1 %
315 10KV % % 7.0384 8.7466 TTOKVH B A sk /1#F  4  11OKVAR % 36 /2 £ %
316 TOKVI A 2 4.5120 5.4560 110KV 7 748 b sl /14 78 . 1 1OKVS 7 4% v 3 /2fF & 7%
317 1KV 1 8.1239 9.6299 11OKVHR T % i3k /24 £ 78 . 110KV T 2 v s /19h 3
318 10KV FEl & 6.2374 7.3610 11KV B A b sk /14 2 4 . 11OKVAR T % 36 /24 £ 7%
319 1OKV3 1] 7.8048 8.9198 11KV A % 36 /24 £ %

320 1OKVH B 2 8.1923 8.9198 11OV i 72 v 3 /14 3

321 1OV 2% 7.5450 8.7466 11OKVR o % i3k /14 2 . 110KV 78 v 3 /24 3
322 10KV 76 & 8.0590 10.0629 TTOKVIR ¥ 4 #3247 . 110KVIR T & s /1
323 1OV # 2 4.5748 5.4560 11OKVHR o % B3k /24 8 . 110KV & s /1 k3
324 10KV k2 5.2351 6.3220 110KV 7 7% sl /L4 2 78 . 1 1OKV 7 4% v 3 /2fF & 7%
325 1OKVIE A 1.9421 2.4250 T1OKVE X & d 3k /14 % . 110KV X 7 v 3 /24 3
326 TOKVE 4 1.9400 2.4250 T1OKVE X4 d 3k /14 % . T1OKVIE X 7 w3 /24 3 %
327 1OKVE & # 4.9 10.9116 35KVIE e 2 #,36 /14 %%

328 TOKVE & & 7.1036 8.7469 35KV & 2 3 /24 £ %%

329 TOKV/E A % 6.3359 7.9199 T10KVE K i & s 3k /L £ &

330 10KVeH E % 5.1 6.0966 35KV A i 2% 3 /3 E %

331 10kV=H % % 5.2 7.3610 35KV A it 28 3 /3 E

332 10KV A 2 5.1 7.3610 35KV A i 2% 3 /3 E 2%

333 LOKVE % = % 4.6963 5.7676 35KV A B 2% 3k /1 £

334 TOKVJE £ — % 4.5270 5.5424 35KV A I 2 3 /14 A




335 10KVE 4 % 4.7003 5.4560 35KV 3P i3k /1 E R

336 10KV A 1.8390 2.4250 35KV 18 T A 3k /14 AR L 3BKV e B v 3 24k R
337 10V & % 4.6901 5.4560 35KV 1 P 7% #,3 /24k £ 48 | 35KV I B Bk /LA R
338 10KV % 2 3.7555 4.6761 35KV 15 T A 3k /14 AR L 35KV e B v 3 /24k R
339 10KV 1L & 7.0517 8.7469 35KV FE A H 3 724k £ % L 35KV I [ A R vk /1A E R
340 10KV % % 2.4248 3.0310 35KV 157 PR #,3 /24 3 78 | 35KV 1A S e /14 R
341 10KV 2 4 4.5358 5.4560 35KV FE A HL 3 /24F £ L 35KV P AR R vk /1 E AR
342 10KV b 2 4.3648 5.4560 35KV 15 T A 3 /2df 2 A | 35KV P L v 3 /19FE R
343 10KV o 2 3.7408 4.6761 35KV T P #3614k | 35KV R v 3 /20 £ R
344 TOKVT 7 I8 & 9.2943 10.3920 TTOKVE F AR A sk /144 . 110KV T FARA ths /24 5
345 10KV A & 9.4480 10.9116 L1O0KVI F AR & sk /oA £ . LIOKVE F iR s /14 £ %%
346 TOKVT A\ & 9.4589 10.9116 110KV I F AR 3k /14 £ . 1 1OKV I T4 7% v sk /24F & 7%
347 LOKVE 7 & % 10.0261 10.9116 TIOKVE FAR A sk /14 . 110KV T FARA thosk /24 5 &
348 10KV % Ju% 9.8615 109116 T1OKVE F 457 sk /oA 7 . 110KV T FAf A sk /1 % %
349 LOKVE A = % 9.8637 10.9116 L1OKV I F A7 v 3k /14 & . L1OKV I T 2% 3 /2 £ %%
350 TOKV T % — % 8.7769 10.9116 110KV I F AR % 3k /14 £ . 1 1OKV I T4 7% v sk /24F & %
351 LOKVE % — % 7.8187 9.6299 T1OKVI F A b /2f £ . 110KV I F 47 48 v s /14 £ %%
352 TOKVT % — %4 7.7364 9.6299 T1OKV I F AR v 3k /L4 £ . 1 1OKV I F 45 7% v sk /24F & %
353 10KV T # 1 4 9.2142 11.5178 110KV FAR & d b /1 £ . T10KVE FAR & d ok /2 £ %
354 10KV % = % 1.9400 2.4250 TTOKVE FAR A sk /144 . 110KV T FARA hsk /2 5
355 10KV # = % 9.2142 11.5178 110KV F 474 d sl /2qk £ 7% . 110KV FAR & ok /14 £ %
356 10KV T % — % 9.2142 11.5178 T1OKV I F AR v 5k /oA £ . 110KV F 47 78 v s /14 & 7%
357 10kVEfE 8.7444 10.9116 T10KVI F AR sk /oA £ . L1OKVIE F a4 s /14 £ %%
358 10KV 45 7.2982 7.9672 110KV 3L F % v, 3k /14 £ 7 . 1 1OKVES 31 F 7% v 3k /24 & 7%
359 10KV & % 8.0157 9.1450 L1OKVET 3 F % w3 /oA £ 7 . 110KV 3 F 74 v 3 /14 £ %
360 10kVE % % 8.1300 9.1450 TTOKVET M F A b ok /14 =% . 110KVA 3 F 7 b sk 24k &
361 10KV A 8.5781 9.1450 TTOKVE M T4 sk /148 . 110KVE 31 F 7 b s /24 3
362 10KV #] 7.6948 9.1450 110KV 3L F % v, 3k /14 £ 7% . 11OV 31 F 7% v 3k /24F & 7%
363 10KV A % 8.0932 9.1450 L1OKVET 3 F % w3 /oA £ . 110KV 3 F 74 v 3 /14 £ %
364 10KV E Bt % 7.3160 9.1450 TTOKVE M F A b sk /278 . 110KVR M F & sl /1o &
365 10kvig )l & 7.3355 9.1450 T10KVE L F &l sk /2 £ % . 110KVE I F & m o /1 £ %
366 10KV & — % 7.9027 9.1450 110KV 3L F % v, 3k /14 £ 7% . 1 1OKVES 301 F 7% v 3k /2fF & 7%
367 10KV 34 % 7.3723 9.1450 L1OKVET 3 F % 3 /L4 £ . 1 1OKV g 1 F 748 v 3k /2fF &£ %
368 10KV E 4 2 8.0326 9.1450 TTOKVET M F A b3k /1= . 110KVA 3 F 4 b sk /24F &
369 10KV # % 7.3160 9.1450 TTOKVE M T4 sk /14 =% . 110KVE 31 F 7 b s /24 5
370 1OKVE 24 & 7.5065 9.1450 110KV 3L F % v, 3 /24 £ 7 . 110KV A 30 F 78 v s /14 & 7%
371 10KV % % 7.9784 9.1450 L1OKVET 3 F % w3 /oA £ 7 . 110KV R 3 F 74 v s /14 £ %
372 10kVE + & 5.1722 5.8022 TTOKVET M F A& ok /148 . 110KVA 3 F 4 b sk /24F %
373 10KV 4 19 % 9.3268 10.3920 T1OKVAH & w3k /1H# £ %

374 10KV 4 5 % 8.3 10.3920 T1OKVACH % w3k /1 £ &

375 10kVEI 4 = % 8.3 10.3920 T1OKVACHT & w3k /1H# £ &

376 10KV 4 = % 8.3158 10.3920 11OKVACH % w3 /19F 5 &

377 10KVS] 4 — % 8.3 10.3920 T1OKVAH & w3k /1#E %

378 TOKVHT 7 = % 10.5045 11.5178 T1OKVATHE A B3k /14 4 . 1 1OKVAT 3 v 3 /24 £ &
379 1OKVHT 3 — % 9.2597 11.5178 T1OKVHTHE % M ok /14F £ 28 . 1 1OKVE] 3 2% v 3k /2dk £ 7%
380 TOKVHT L = % 8.3448 10.0629 T1OKVRTHE AL b s/ 14k 78 . 1 1OKVRT 2 2 3l /2# & &
381 TOKVRT L — % 8.6782 10.0629 TTOKVY # 4 o sk /24 78 . 1T 1OKVAT #2836 /14 £ %
382 TOKVRT# = % 7.7775 9.6299 TTOKVRT # 4% b sk /24 2 7 . 1 1OKVAT 3 7 3 /14 %




383 LOKVRT A — % 8.0460 9.6299 TLTOKVHY # 4 o sk /2AF 78 . 11OKVAT3# & w3 /14 £ %
384 TOKVT %0 19 4 9.4740 11.5178 TRV # 4% sk /24 2 8 . L 1OKVAT 3 3 /1 %
385 10KVET# — & 9.9655 11.5178 T1OKVATHE % 3 /14FE 8 . 1 1OKVE] 3k 28 oo 3k /2 £ 2%
386 TOKVET 3 = % 9.4654 11.5178 T1OKVATHE A B3k /24 £ . 110KVET S s/ 14k &
387 1OKVET # — % 9.9763 11.5178 T1OKVHTHE % Mok /14F £ 28 . 1 1OKVE] 3 2% v 3 /2 £ 7%
388 1OKVET I % 8.0547 9.6299 TTOKVT # 4% sk /24 2 7 . 1 1OKVAT 3 2 3 /1 %
389 LOKVHT 2 = % 7.7927 9.6299 T1OKVATHE 2 i3k /1 £ % . 11OKVET 3% v 3 29k £
390 TOKVET T — % 7.9053 9.6299 11OKVATHE A B3k /14 48 . 1 1OKVAT 3 v 3 /24 £
391 10KV = % 8.2733 9.6299 TLTOKVRHY # 4 sk /2AF 78 . 11OKVAT3# & w3 /14 £ %
392 1OKVA] & 7.5211 8.7469 TTOKVA| # B sk /2% . 110KVA| & &% sk /154
393 TOKVA] 27 2.9130 3.8101 L1OKVA| & B4 3k /14 . L1OKVA] & 8 % B 3b /2F £ %%
394 TOKVAI 35 — 4 2.0417 2.4250 TTOKVA| B4 sk /14 . 110KVA| % 4845 hs /24 5 ¢
395 1OKVAI 4 % 2.4028 3.0310 TTOKVA| # 4 sk /148 . 11O0KVA| % 487 b sk /24 5 7%
396 TOKVAF 2 % 5.6182 6.9280 T10KVAI F B F w3 /12 . 11OKVA| & &% b 3k /2 £ &
397 1OKVA| K % 4.8773 5.4560 L10KVA| & B4 sk /2 £ . L1OKVAI & B & ok /1 £ %
398 TOKVA & 4.7913 5.4560 TTOKVA| B4 sk /14 . 110KVA| % 4848 b s /24 3 ¢
399 1OKV% 47 % 5.4363 6.5816 35KV % b 2% 3k /24k £ 2%

400 TOKV: H 2 5.6045 7.0146 35KV Wb A 3 /14 A

401 10KV #7 4 5.8628 6.5816 35KV % Ak 2% W 3k /24 £

402 10KV 4 3% 3.0805 3.8101 35KV £ A sk /14 L 3BKVAE R sk 24 E R

403 10KV 214 2.4248 3.0310 35KVAE 4 B3k /LA | 35KVEE A v 3k /oA £ 8

404 10KV % & 3.8309 5.3799 35KVt £ 2 Hsk /odf A | 35KVAE 4R v sk /14FE R

405 10KV % % 7.2269 9.0201 35KVAE 47 3k /2gk £ A | 35KVSE 4 H sk /LR

406 10KV 3t & 4.2516 5.3500 35KV 467 3k 2k £ 7 | 35KV SR 4 v sk /LA E R
407 10KV % 4.4361 5.1960 35KVA= U2 WL 3k 24k £ 2%

408 10KV K 4.2889 5.1960 35KVA= A 3 /1 & A

409 10KV 3 2% 8.4175 10.3920 35KVA= U2 W3k /2dk £

410 10KVA= X 2 4.3213 5.1960 35KVA= A 3 /14 & A

411 10kVILAT % 5.2661 6.3391 3BKVAT B AR B3 /1K B E | 3OKVA B AR Bk 2 £
412 10KV H 2 3.5958 4.0529 35KVALFE & 3 /1, R E & . 35KV R sk 2 £ K
413 1OKVIL % 2 6.6 8.1925 35KV L3 2 w3k /1, IR AFE & . 35KVIL I 3k 24 £ R
414 10KV 1 37 2 3.2 3.8101 35KV B 37 7 4% 3 /14FE A&

415 10kVE# 4 1.6229 2.4250 110KV SR & w3k /1 E &

416 10KV #f & 43114 5.4560 110KV 5 % 3 /1fF £ &

417 10KV 44 4 2.5047 3.1200 110KV 5% i 3k /1 £ &

418 10KV 2 2 7.6689 9.1450 110KV B A by s /24 7 . 110KV B 3 /1 %
419 1OKVH 4 4 7.6883 9.1450 110KV 2 At sk /1 4 . 110KV 24 w3 /24 £ %
420 10KV e 2 2 7.4783 9.1450 110KV B A v s/ 14k . 110KV A 2 2 s /2f & %
421 10KV f % 7.4632 9.1450 110KV B Ak sk /oA 7 . 110KV A 3k /14 £ %
422 10KV 44 2 7.4350 9.1450 110KV B A b sk /1fF 2 4 . 110KV B 3k 2k £ 7%
423 10KV £ 7.7176 9.1450 110KV 2 A sk /14 4 . 110KV 24 w3 /24 £ %
424 TOKV/™ 47 = % 8.2053 10.1322 T10KV™ 3 7 e 3k /142 7 . 110KV 38 4 22 4% v 3 /24 3 %
425 LOKV/™ 4 — % 8.1361 10.1322 TLTOKV/™ 2 4 3 /39F 4 . 1 1OKV /™ 3 e 52 %% e 3 /24 %%
426 TOKV™ & %, 7.0588 8.5907 T1OKV ™ # % w3 /1 £ &

427 TOKV/™ 4 = % 8.4 10.3920 TLTOKV/™ 2 47 s /24 4 | 1 1OKV/™ 3 e 92 4% o 3k /34 %%
428 10KV, — % 8.8137 10.3920 T10KV™ 3 7 s 3 /143 7 . 110KV 38 4 22 4 v 3 /24 3 %%
429 10KV 3 = % 8.4089 10.3920 TTOKV/™ 2 4 3 /39F 2 4 . 1 1OKV /™ 3 e 52 % e 3 /24 %%
430 10KV 5 — % 8.4500 10.3920 TTOKV /™3 4 i3k /34 4 . 110KV /™38 % % 7% b /oA £ 7%




431 10KV 47 %, 8.0 8.5907 TIOKV/™ 4 % w3 /1 fF £ &

432 10V k% 1.9 2.4250 35KV _E B AR sk /14 &

433 10KV= R & 3.7214 4.6761 S5KVE AR wIk/IER . 35KV A& Wk 2 £ &
434 10KV= 7% 3.6482 5.4560 35KVE & A sk /o £ | 3OKVE AL /1 E R
435 10KV £ % 3.0480 3.8101 110KV B sk /2= . 110KV F E& w3 /1 E%
436 10KV 9, % 3.4378 4.6761 T10KVA B A sk /2fb 7% . 110KV A B4 w3k /14 %
437 10KV % % 4.8773 6.0966 110KV B i3k /248 . 110KV 7 B & sk /1 &
438 10KV 77 38 2 6.4214 7.1012 110KV B AR i3k /24 . 110KV A & sk /1%
439 10KV 9 4.9743 6.0447 35KV # 7 3k /2Ak A | 35KV K sk /1 E R
440 10KV 35 % 6.6704 8.1404 35KV # 7 # 3k /2dk 7 | 35KV ok e sk /LA E R
441 TOKV 7 3t 8.1178 9.6299 35KV & A 3k /odf = A L 35KV R sk /1 E R
442 10KV 2 2 5.1129 6.0447 35KV # & 3k 24k 7 | 35KV o % e sk /LA E R
443 10KV 7 % 2.8402 3.8101 110KV Bk dsk/ofh =4 . 110KV T E& w3/ 1E%
444 10KV + % 5.0306 6.0447 35KV B A sk /odf A | 35KV K sk /1 E R
445 10KV # % 3.6727 4.3473 35KV & 2 3k /14 A L 35KVIT vk sk /24 R
446 TOKV 7 bk £ 5.6810 7.1012 110KV B AR i3k /1 E 4 . 110KV G 24 w3k 24k &
447 1KV 45 2 7.4480 9.1450 110KV #57 B3k /1 . 110KV £ 7 v s /24 5 %
448 10KV 3k 2 7.3463 9.1450 110KV 4 48 sl /L4 78 . 11OV 4 48 v s /2fF & 7%
449 10KV 7 % 4.9492 5.8022 110KV A sk /1 4 . 110KV 45 36 /2 £ %
450 10KV 37 = % 8.0434 9.1450 110KV £  B 3k /1A . 110KV 4 78 w3 /24 3 8
451 10KV 37 — % 8.0239 9.1450 110KV #E dsk /24 £ 8 . 110KV & sk /145 %
452 10KV 3 = 4 7.7273 9.1450 110KV 44 sk /oA 48 . 110KV-A 28 s /1fF & %
453 10KVt % 4 6.1551 7.0146 T10KV-E A% Aok /LFE 2 . 110KV £ 2% w3 /2 £ 7%
454 10kV+ = & 3.6480 4.4166 110KV-E % i3 /1fF £ &

455 10KV k& =% 8.3 10.3920 110KV A i 3% 7 v 3 /1 fF £

456 10KV A & —% 8.3 10.3920 T1O0KVA i 3% 7 b 3 /1 £ &

457 10kVA % 4.8 6.0620 11OV 24 i3k /24 £ 8 . 110KVA S & v s / 19k
458 10KV A 41 2 8.1 9.6299 TTOKVA S A sk /oA 2 . 11OKVA 4 3 /1 %




